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WYKOP = 0.199 m2

FREZOWANIE = 0.180 m2
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WYKOP = 0.791 m2

WYRÓWNANIE_BA = 0.147 m2

FREZOWANIE = 0.034 m2

POSZERZENIE_P = 1.000 m
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NASYP = 0.373 m2

WYKOP = 0.110 m2

WYRÓWNANIE_BA = 0.196 m2

FREZOWANIE = 0.001 m2
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NASYP = 0.234 m2

WYKOP = 1.052 m2

WYRÓWNANIE_BA = 0.097 m2

FREZOWANIE = 0.099 m2

POSZERZENIE_P = 2.000 m
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NASYP = 0.502 m2

WYKOP = 0.181 m2

WYRÓWNANIE_BA = 0.763 m2
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NASYP = 0.318 m2

WYKOP = 0.307 m2

WYRÓWNANIE_BA = 0.508 m2
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NASYP = 0.191 m2

WYKOP = 1.098 m2

WYRÓWNANIE_BA = 0.030 m2

POSZERZENIE_L = 1.500 m
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NASYP = 0.051 m2

WYKOP = 1.969 m2

WYRÓWNANIE_BA = 0.263 m2

FREZOWANIE = 0.040 m2

POSZERZENIE_L = 2.801 m
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NASYP = 0.149 m2

WYKOP = 1.286 m2

WYRÓWNANIE_BA = 0.314 m2

FREZOWANIE = 0.041 m2

POSZERZENIE_L = 1.500 m
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NASYP = 0.109 m2

WYKOP = 0.668 m2

WYRÓWNANIE_BA = 0.747 m2

POSZERZENIE_L = 0.500 m
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NASYP = 0.112 m2

WYKOP = 0.499 m2

WYRÓWNANIE_BA = 0.196 m2
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Inwestor Zarząd Dróg powiatowych w Pleszewie; ul. Gen. Hallera 54, 63-300 Plesyew

Przebudowa ul. Grodzieckiej w m. Chocz
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